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Q.22 In Piaget's cognitive development theory, the process for search for 'balance’ between self
and the world is referred to as -

Options 1. assimilation.
2. organization.
3. accommodation.
4. equilibration.
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Q.25 National Education Policy 2020 suggests that assessment -
Options 1. is important to assign ranks to the children in order to merit.
2. must be undertaken through formal exams taken once in an academic year.
3. is important to find out a child's progress over a certain period of time.
4. must be at the centre of all educational activities.
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Q.28 In Howard Gardner’s theory, persons high on intelligence have finer sensibilities
regarding their identity, human existence and meaning of life.
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4. intrapersonal

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q29 Frenfifart 3 oaferms = qaTeR W+ 36 Fom v et <61 Freforfiee & & formr Wt e 3 =ty

0ptions1. Efg _ﬂ:ﬁ_aﬁmé‘_ﬂ_

2. gfreqret & Tia WT UaT T
3. Tl o G T © WA ST

4TI TS FHA UT & &

Question Type : MCQ

Status : Answered

Chosen Option : 3

@30 e = et = TR AT 1 S § e g F - it were wr
P fafirraTeTt T AT BT § 7 )

2. AT & T UT3T=A1 T UTer |

3 weaw ST o wient @1 g

4 ST H TR T ST T TG 5

Question Type : MCQ

Status : Answered

Chosen Option : 1

Q.1 a7 11 % srrrmeRdtet 1 gm0 (BT @i e g aum F amarm E eiEm S F TR e
ot e He e AT % B H ST {3 5w 22

Options 1.

BEATHA T | con = 100 ki &, 7 5 cm T~ RIS o SHISK &R BT S5 o (o0 el
2.
BT 1 T TR (FHI) T 31 I 36 A1 oA 1 b AT o (o7, e

3.
T 1 U T AR I T3 T, I TS ot AT AT &et o T &= % e e
4.
T FT TS T 3 TR T S U AT 3 [T ST, Toree e et o W STt 5 7 B

Question Type : MCQ
Status : Answered
Chosen Option : 2




U2 Srafefias & & F9-91 A T AR | Wt U T8 22
options &
2. faowor — wswor
s, fee ofi s

4. HHET |HTET

Question Type : MCQ
Status : Answered
Chosen Option : 2

T SrefReT W F 9 TR 9 § oy o £
options; () 866, 8.006, 8.06, 8.066, 8.60, 80.6
2 80.6, 8.60, 8.066, 8.06, 8.006, 0.866,
3. 0.866, 8.06, 8.066, 8.006, 8.60, 80.6
4 0.866, 8.006, 8.066, 8.06, 8.60, 80.6

Question Type : MCQ
Status : Answered
Chosen Option : 2

@4 g 1 ST 16 km = E, AT 210 firre 3 e 2w wai

Options 1 65 km
252 km
3 56 km
4 60 km

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q5 fufimy it 3 Rt o o e o AR AT

b Uﬁﬁﬁ?fﬁ‘q\?@fﬁ
A 2185

B z125

C 703

D 87

TIME AT 105 REFH FAE A M C T 180 T FH FA B Fi ST T FAA & 2 R
1. STY, TE O | 2685 SATET F 2

2 ZET I FH 2
. T T S ST T s v o A et e T 2
4 T, TE TS H 2685 FATET FATAI 2

Options

Question Type : MCQ

Status : Answered

Chosen Option : 1

Q6 5 B I | 2T FEH TG T T S 1 AT DA T T T T STA T FF A AT
Eadceik-

OPHO"S 1. YT ST SUNT e TR ST TS T
2. U AT T T WA S e =
3. TSI WA T (e |

4. T TY H AT ST AT T ST ST

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.7 frforiiad & o foreren 1 U SATHATE (ST 3 (9o § Hal1aa 2, STk sl 5 AT = 7o 2 Tara= w31
ot AT

Options1. 1T|:|' Q\E
2 T g

3. é:r%%
4 S o

Question Type : MCQ
Status : Answered
Chosen Option: 3




Q.8 87 87

THEAMFTL F16 i Ee e W I | forgr 16

913

Tt & & -1 o g few 7 T it Wit 39 wiatea 5 i e &

Options 1.

ST T HU=ITH ShoTaTe i TS W Eiid el ST =20 @91 S shi =0l sl 791 il 5 fowgar
=nfem

2.

T (ST F T (TR S SEA1e] % W A1 561 [ MR o1 ST il 955 e o 0 90
AR - rTeT |t T SR fR S =)

3.

T T TG ATE & ET o T SATEROT fEET S = S 9 5 F o T, e W % g S v v s
=t

4

wﬂm#n&mmg&% STt s ¥ Fom, wiferes o 3 s e f w2

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q9w IR F TR, Fe-3 F i & o frmfolas § 9 F9-81 v A wfawe T8 o w2

Options 1.

IIo% (TEAT) T “ATE | FieheTe T A T35 B, T/l 3 TS ST A A1 BT i Ee FAT|

1 1
20— 4+ —
= SE%EEWT]

3. BT ST ATTerse (&) | U ShT SRT S s 5|

4 ZTHAT 36 2 X 4 37K 4 X 2 U 991 2

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q10 5ff srarer forTores 7T 2on oG e B SATCH o T8 | Se i1 10T e aht aoT ST £
I THTOUE TR TS e e e 3 ST S % Samen & st
I TersTe =T S S (SoRet SET) T e (=T % SUET & S |
I =% ST a1 %0 1 T T 3 ST § sqareas F
ST o A= FE § TAE i o (o703 TRl ol Ted 315 sh 3 saiye i 4 eh] 9ar=dl i

Options ¢ 11, 11, 1
2. LT M
3. (UL AT
4 IL L, III

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q1T e forerss 3 fom wher & firmt =51 witerm 39 5 fom Pt & @ femwranr swam watfies swa 27
Options 1.

=T Torwlt ST 1 v 1 o1 T F H 10 &7 7710 & a1 v 27 7 o1 7 o 2

2.
T U1 % BT 0 frere o e faers e o it S 97 feRee o s
3. SATq U ©e Wl 4 SEAT H G99 B 5 Fia?

4& T 7 FT R

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q12 e 3 U U AT F1E 2, R AT 20 em SHE 10 cm F) 10] 3 U v wiww HE 2, e e
15 cm B FT TS 3 TR 7 = &

Options 1 15 cm
2.5cm
3. 0cm
4 10 cm

Question Type : MCQ
Status : Answered
Chosen Option : 3

T Sraffes ® 9 FIT 9T ¢ U SR T 9T 3 SET 27
options 1. () 16

2 1.6

3. 1.06

4.16.0

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q14 Srforfiam o & #i oSl 3 SR Freor 3 frm s i f T 22
Optons, 13

2 AT

e

4 o aTeE

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q15 i TR0 Wi csimes s T T T 21, AT TS SR e T 27
Options 1 20

2.10

3. ()

4 .10

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16 7eger e STTeRT ST U SAITER T SToRT B2 10 THI ST =hT STRATehTE Uil | siedi 2 78 o 8 4 3
T T A T TS B o7 °E o6 S T e H 10 S e aet E, S99 F i 6 e Wi A At

T E
et g sRm i am e &, Tt &

Options 7
1. T
.
10
i
100

3
100

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q17 s =t 7ot e 5 fimy o i vt 36 i, fifes s o A ftre 5 fopforfia & & o fort Ty
Toreait =61 v 3 T 7 STt Sud WA A w87

2 T A
3. iy
4. ST AR I

Options

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.18 Tt witsfem wmeaT 3 ¥ STEER U Bl 7T 36 2 He 55 e F wr@a wee w fan 56 e dews
STEET TR

Options 1. 10500
210850
310200
410800

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q19 srorfires = ww o % wTreRer % o feferfigs & & si-a1 Seve St e 22

Options 1.

AT 3 TET 1 FATH o (AT 37 ATcreelt 1 o 1|
2. (T UEreT o oI, BT i oAt G, 2]
3. BT T 37k TTHIERT o TR 9T A0fias i UL T2 27|

4.
TTATE 3T ST FTET0T a1 e & S ol S 361 U 99 ST 7 ST F)

Question Type : MCQ
Status : Answered
Chosen Option : 4

2 T o et THATETE ST 3 WISt TE TR S Heha 27
0ptions1. Fﬁ‘-@iﬁ' uﬁam_

2. USRIt

3. UGS TS

4. g WHu

Question Type : MCQ
Status : Answered
Chosen Option : 1




wee Tean) tae wafafa i g 957 & a1 ¥ = g Eemn

PPN, figen wmfae i S 2 W ST
2. figs gufafa & gear | w2 S
% Yigeh TG %1 ST | §g ST
4 Yfigeh T ol HEdT 2 = ST

Q.21 oy 3 T U AEATER FO A7 TR FeE 16 om ff SR ARE Sem | TR s wmE R e W wm A A

Question Type : MCQ
Status : Answered
Chosen Option : 2

T FrTerftam 5 & ot =g <71 ST, &I OF TS STeT B
Options; 154 192, 211
2 147,187,210
3 126, 162, 175
4 133, 154, 203

Q.22 ‘o wer e @er % o1, W T U e 9 @ B B U Rgeel sietd 2 0| Sl faenel et & ar
I UE 2 T =T AT B T Raergt B 7 o R & 7 W B e S e § 98 o9 ST 6 ST e
| S =TS ST W S F G § AT & S| S5 H TS e are fgengt s s fostr a9 5

Question Type : MCQ
Status : Answered
Chosen Option : 2

Options 1 Tlﬁ_ra_ o fﬁ %i

Q23 qrofier qrgmerET ®URET 2005 F AT W % AFT F A H H F AT 0F T 559 22

wﬁmmﬁﬁuﬁmﬁﬁrwﬁwwﬁmmaﬁm
mww%ﬁanﬁ?ﬂa@ﬁ 31T FeRaeReTal UR aet &= s =nfeT)
4,

2 a7 o SSTET0T T HETIAT | T 1 AT SET ST =

Question Type : MCQ
Status : Answered
Chosen Option : 4




0 e & & T o

Options 1 64
2. 36
3. 25

4. 81

Question Type : MCQ
Status : Answered
Chosen Option: 1

% < e o fereeat 5 & oW o Wi e S
PN ufefir, vy, P, gmreer

2. Torsam, ioT, 3, =

3. gftey, %, e, =

4. Torsa, Sffan, wiam, sy

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q26 s 10 s s g 6 T ¥ A e WG o e e 1 7 e

ToReT | e TITATaITerT o el ST 87
Options 3

w N -
|

»

Cal B o i = R &) R oo

Question Type : MCQ
Status : Answered
Chosen Option : 2




O nfere & sremoTaR i E F A A P A A AR A A A

IO | AT ST ==/ aeen W ATahiE 26 2
2. TIOTETr STTeROM it THFT ST 2

3. TITOT H STFLIROMTY Yo B § SHared 2t 2]

4. TITOTH T ST, STl § T Brell 2

Question Type : MCQ
Status : Answered
Chosen Option : 1

2 Crferfe & & T IO & U TSRS FAT F TSR AT 20

Options 1.
T T TR W T SEeTe| O 3T Ueh Hiige Wi o 181 2 S E S 51y T $F I S E B

2.

Tarer=r = vamAwE W fafey it w2 i o 2 iR o 9T @ U0 e I WHIE WEA A R
3.

Tararer T B Teel AT, EiEa & avee, eanT () S 2T B ofh g ae e et =
A e a5 S () T 2

4.

Toryrer wuefrer =T e 3 Torm S w3 SUET i ar T B S o a0 T ST 36 = e 5
=3

Question Type : MCQ
Status : Answered
Chosen Option : 3

e e e o e s S s e e e s
OPTons . farfireT TarTeA AT STl ol TS FTaAT

2. T E1 URETT 1 faf ST Fae

3. 5 % TUTST UAT %A 3 70 HoaATel 0T (RahT T ie)

s, T ST T T A1 SR 2 907 19 T

Question Type : MCQ
Status : Answered
Chosen Option : 1




R I S E (% JENUR S en— Lataie 2 at v dnt <ttt ot et i

Options 9

1. — Hrax
14

3
2. — H&X
4

o1 2
35

e 12t
7

Question Type : MCQ
Status : Answered
Chosen Option : 3

Section : Environmental Studies

1 freAferies § & F - afwE e § w6 o gEE e 2

Options 1.
T AT T ST T T ST e S TR % i o 1 E S0 S e e (AR &) |

2.
T AITEdl W UF SIed! 2@ & a18 B el W a7 (a9 Tewear & = a=m)|

3.
=121 BT e, e o = Tt i o e w e s S wieagee | f e
4

ﬁgﬁ%ﬁﬁwﬁsﬁnzﬁmﬁ%ﬁmm%aﬁﬁ%aﬁﬁmqm%@ﬁﬁ%@%%

Question Type : MCQ
Status : Answered
Chosen Option : 1

02 wrfirm Seva: D EER] S -G T S SRR R S A & we )
Treaferfan o 9 #iH-81 Hoaies 04 39 S5 % 9evd w1 AT Ui Fe 27

Options 1.

ey A fTopet & & AT i ST st ST - o

2.
T TS 3 TR F U o (70 IR 31 I S & TR THE o T 1 U o T T 312

3

mmﬁmmr@%%m%ﬁvwﬁﬁﬁﬁmmﬁ?

4.
e AT HTAT-1UAT & Rl Ua i eI 8, 1 = i 36 i o SHGH W S S o (e, T T o gk
&

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q3 o STt T ¥ o s S 2 SO AT 3 i S | S e e # AT o T a e o fe
TSR TN L Teh| AT BT FATAT E T3 S0 1ie o S Wiett 2 0 71 7E Siaer T8 & /o, e 39

T TITE T AN T w6 | T =
Frefefas § & wim-E rar o1 #5137 waraA) & fHepeat W 3= e | 9ag w0t S e 5T 3 Sused g

®
Options 1.

BT 3BT U AT ot ° forg B #E 3F see w, Tt 31 fepa = e foram)

2.
ST TR W ST S 3 T, DT W 3 faf At w6 e e o e e S e 2

3

T e T S g 5 e et it i o e & e R
4 AT T S | UTHT o Tuan #e & o R

Question Type : MCQ
Status : Answered

Chosen Option : 1

Q4 Gt 5 & i Freiim to £ P R oo o= 705 § B o awa & F T asr s
e Toma =1 weRaT 2

Options1. wﬁ -ﬁ o
2. T THALES

3. HZ &
B

4 =2 J s

Question Type : MCQ
Status : Answered

Chosen Option : 3

Options 1 ;'_xl ‘;:l ﬁ!
2 ST

4. AT

Question Type : MCQ
Status : Answered

Chosen Option : 2




6 Srfafes & 8 P o WEATETE S # TE S A e 22

Options 1.

T 2o, foeF a0 = o 3 1 2, 37 OE A o o T B SaET A

2.
= fomer it Tarfiee SR 3 SUANT! St SaREaT A o 7T ITtheR STTESTeR T SUET WAt

3

o A S e T 5 AT o i
4ﬁm@@?ﬁwwﬁ%%@m%mﬁﬁmﬁﬁwmml

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.7 afz o semETETE (o) 3 frum # < arE % AR W sEeEE R e F @ w5 e v e 8 9
sTEqeTaTe ¥ feweft 7 femm 2nft —

Options1. ot UF%F[
- gregurutEm

3. :-ﬁ-rt.l:rma£
- 3R I

N

S

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.8 STy ver WU B) ST T AT AT () S & AT W I A T AT g A B WA
T (3fi) T ST e E

Options 1 EﬂT-r ﬁ q,%_‘;_{ ‘TH'

2. T ZRT I AT T S W B S|
3. Wq 2T SATGT ST &1 37 7717 ohT ST 7 A

4

ﬁwaﬁaﬁﬁﬁmaﬁ?mmaﬁﬁiﬁﬁﬁﬂ?ml

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q0 <frsy varer o et o o o 36 e O R i <fe o i e )

A. TIUASR T2HT
B. TTSTE AT
C. ST
D. TS 3 ¥ 1§ Uva i &2
E. WIS %1 S@TEAT

SYEH =0T T T A ¢

Options1_ B, C, A’ E’ D

2 B AC E D

3. ByC ADE

4. B BN D

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q10 gremeeit v w1e et ¥ AT UiE TS o A € S e (R T e o g €,
TrTT FEEATAT | 7 WA, e G THwAT O i wireat a2, e e w9 w2

Options1. & T
2 F
3 FETET
R

Question Type : MCQ
Status : Answered
Chosen Option : 2

e o e e e S EET R
Options 1. T

2. Tt

3. FNE

4 9

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q12 freferfes o & e S seva, Uit wmws fava % fom, fafere, @ o s 22

Options 1.

Toremeff =t waT et S T3 ardte o wmwR % i % o geew w5 sug 5=t e s o
2.
BT TMEAHST e o 10T F T T W 1 375 3899 o TR W aieha il
3.
BT UfaTiee AR & Fard i U=l 20, 37! §Iaa F 5 738 He|

4

mmﬁﬁmﬁwzﬁwﬁﬁﬁﬁﬂﬁmﬁwﬁl

Question Type : MCQ
Status : Answered
Chosen Option: 2

L1 e o s e S e T R E R e e e

Options 1.
TE T 5 [0 ToF - 61 70 il § SEAT €, T 70 o U 8 e T STeT H Wi i faver w
2

ﬁmﬁ%%@%maf@ﬁmﬁaﬂgﬁ%@aﬁﬁ%wﬁﬁwaﬁa;ﬁavhmucﬁ%%qml

3.
U TSt T 2709 9737 UL ST UTH1 oF T3 JTaT 3T UaT ST

4.
FIF-H Fost Fed TS B I 8, T o {790 T TR 99eHT 5 FiH-H1 Fost Seal 98 S 2

Question Type : MCQ

Status : Answered

Chosen Option : 1

Q.14 {7 Tt 3T T WEIH B AT £ A S U B 8, T T 8 0 6 ¥ @ v £, T E
T A E, T # 2T A ot B o e A g —

Options 7 gq-

L= 9

3. Thach
o

Question Type : MCQ

Status : Answered

Chosen Option : 4




Q15 i v 3 144 oreiiefiar o1 o1 31 2 3 o el #1 99 3 o ofve o e A e —
P, 60 HrzramTE

2. 20 HrEv/HFTE

3. 10 HIZ0/HFTS

4. 120 Hret/FHvS

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.16 firarep wrer wfiwegor it sraemon famT =mear ) Freferian § & Si-w @ STt §6 7w i awae ¥ o
T G 2

0ptions1. Eﬁ'f
2. UTIS

3 foo
4. T AT

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q17 3 fam o oot & & a1, v o & 37 S i 91 o o e i W oft o e on Faw
T T
A. = T T & T 2 9 v weer e S S e T e ane o fo
B. % TR & 277 4
C. oM = ==t = =i & T =it == ot 2w & foer =)
D. T JFF & B 370 S31 3 WA A FEFF SR 3 &N § ST F TAwH T 6 A
E. 371 379 %0 § §H1 291 3 WA 3 ATEE 87 5 FIAanal o1 Ieeng 55 2|

P B, C ¥R D

2 A, C,D #RE
3 A,B,C, 3R E
4 A, B, @RC

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.18 ot wwmrar o TirerarTen o fofet oot ATt o v 21 5 A o et 3 e fear e e w e 2 —

YO | SR = 110 He
=T O SHTTEH o ST TN 1 o o= oh] AT T8 T 13,3 W 21 9 S0 ol o6 it ohr Ameatiaren g1 &

T

Options1' 15 % ﬂ ﬁ

2. 1.7 Foreries
3. 1.4 fFares
4. 1.6 ToFrardrex

Question Type : MCQ
Status : Answered
Chosen Option : 1

O T T 3 e PR 3 & AT s e g
OPlenS, T R 8 35 <112 @ T o o1 e e e

2.
T 3 T o T ST ST e ST S i 21T, e e S O I % e e

3.
T fermerT F <o TEd @ S 3 S 6 ST AT SE O sue s R S= 7

4 HET H DT Al STASF THHT o SS9 ST S

Question Type : MCQ
Status : Answered
Chosen Option : 2




020 et = e it

U= [T T
A. ¥T@H .  TEEERE
B. TlE@ II. U % o, BEIod
C. T (FEmm=e ') R T o
D. TS 1. g =, Faer
T T T
V. UeeR/eRgl & &, BTe]
T
V. O S % S, BT
T

Options; - A\ B_[[, C-III, D-I
2 A-V, B-II, C-IV, D-III
3. A-V, B-1, C-III, D-1V
4. A-V, B-1V, C-11, D-11I

Question Type : MCQ
Status : Answered
Chosen Option : 2

2 iy fow o SR W e i

Tty foume, taw, afears (=)

TrAeTiad = & F TaeIweT =0, S 39 T et 5 o S 2
0Ptions1. mfﬂ_"r 1:] ﬁﬂwéﬂ%l

2 FAT AR

3. FeT ST TS S UL T8 TRl

4 T S 35 § &% 54 B

Question Type : MCQ
Status : Answered
Chosen Option: 2




Q.22 A teacher wants to use technology to teach her students about different world heritage
sites and understand their architecture, historical background, etc. better.

Which of the following technologies would be BEST suited for this purpose?
Options 1. Virtual reality

2. Simulation software
3. Graphic design software
4. Animated video

Question Type : MCQ
Status : Answered
Chosen Option : 3

O Frgmmett X i Y # et fapie faré e faw srem R
X T 12 39 = Eareited 10.5 7/
Y &1 10 39 = EEreiten 12.5 o/
7 FuTet & AR w7 s e st e 2

OO Y TeRaftOTaT (@TTeRAT) F1 AT 2 St X AE 2
2 X 3R Y ST TR0 (SThHaT) % TR 2

3. X TeRTOTAT (STTRAT) 3 T 2 S Y T8 T
4. X @R Y ST TREAOTET (R % T T 2

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q24 moft Frooreft W= & TR TATERVIT ST SART B, AT =i i S o e e v )
ﬁmﬁﬁﬁﬁﬁ%ﬁqmmwwaﬁrmﬁ%%ﬁmm%ﬂ

0ptions1. '_ﬂé
2. T T A 0l SIS

3. G T U 95
4 E%HETHT

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q.25 arredt 1 HIE T F AN T U AT H, T D O £, A1 5§ 5 A o a5 4 o w #
Freafafigs o 9 S0 397 TH09 H 39 TS 3 HgT % TS 5 gad =01 G Hun?

Options 1.

TEATST T A TR H B § e 6 2 9% o7 A I e e s e A e w E AW S s
T, et it HHEET e 2
2.

T E T ST AN F W AT F | TF Sk ST 2 TS H T o (o0 0 AR v 7 e
ol TEET S 2

3.

T E T ST S 35 W A e # I A 5 (e #) e ¥ 15 o o S et & o
eIl BT ST 2

4,

T H H T AT TS T AT S =8 ot & | ST ST GH h1 HIETAT T T 6006 70, 0
HEEYT e FEA 2

Question Type : MCQ
Status : Answered
Chosen Option : 2

¥ = o S shee: St o TR T 6 e

oo, g, TeRT, e, HFiz
2. TR, |iE, gaft, Hie
3. T, |y, Fie, UL
4. TG, TET, TR, T

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.27 et % fw 1 TG 9 6 T T 5 IS TR 1 R SaT 3 W ST
TR 27
Options 1.

FTIHT, T, Ao, T S % a4 5 3oy 7R IR % o= o 3o %71 v &)

2.
T T T 2T, T SEETAT ST U T (ST S S YT o ST 39 o Tkt SuanT {6 2

3.
DT T B YT AT 3 99 T8 F0 T F (670 ST 55 oF T arer Hee F Ui S see|

4.
T 1 THIET | AT AN F AT T A AT H Heta gae | s St S

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.28 g ot 391 & v TN A AT Fq H W 2wt 2, o T w0 v g e # o o A
e =1 veea T oA TR 1 4107 S o ST % B O SUh T ST =

Options 1.

T T U ST o I3 % S H TAT0 S 19 ST S A8 R % ©, of e Jeed 3 T, 37T

2.
TUTHIT DT 70 BT G4 (5 STTYeR &5 5 547 ST FTE0 ST 47 721 T =)
3.
T T 3 T H I SHaERl ¥ HRATEAT ST 3T % = F e F ==_ =
4.

T H e ST I GAL ST o6 S H ST GERIVT SR T 5 R H & 3l

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.29 it i v wiwiist (i) Tt 2, For 7 vt grar gt e T 8] WA Ut 39w = w8
mﬁ%%s&mﬁ%a‘raﬁw\%wm%ﬁtsﬁ&m@éﬁ%ﬁaﬁﬁw%wm%—

Options1_ ;_xl

2. SR @AY
3. gEq TRy
4 e gedt

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.30 (gEmT &F TR wE W A s EE w E)
FeTa: T, fafer 3 3 ofter v w  #)  wesft o oft v T
TR BT € AT TE 59 foRATe H YR o A | s ) T, Rl et o ot o e 2
T UTS T 5 3 DI 1 ST S 9 il SFerrron & uitfea 0 o foro wanT o mar 2) w79 & #ie-a1
o ST AT ITEH 3 S T T SEet w7 o H Hag

Options 1.

HIET T HE STTIe AL 3 A UL S TET0 97 T ST 82

S & et B e ey e o 5 e e
3. AT FTAR TS T TEHE 1@ 1 578 1 27

4.

T STt = faget it sees F % fom or 3 o v e

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
TS |7 7997 =0T 2 for 39y fofat " oft, 36+ 3a+1 v T,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T AR B0 W T 9 % g | 7, S 5
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
o T T UL FE S AT ST (o7 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 1

1 ol oft = o i 3 fe R T A R

1. 39E
2. d9
3. "%ReAdr
4. €T
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Treferfiga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
TS |7 7997 =0T 2 for 39y fofat " oft, 36+ 3a+1 v T,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
s TRy e T R g
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T AR B0 W T 9 % g | 7, S 5
eI % S W €1 g1 @ WA Wi o e St Ao ag o afes
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
o T T UL FE S AT ST (o7 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 2
** qmard vrew v wf-fa=E B
l. 59+ 9
. R + &
; E?:Jr@a:{?f
. 5+ oY

[

2

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q3

Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
TS |7 7997 =0T 2 for 39y fofat " oft, 36+ 3a+1 v T,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T AR B0 W T 9 % g | 7, S 5
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
o T T UL FE S AT ST (o7 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 3

T 9157 T T 716% T 9 -
. gmd+ 7

. THG + 37

A dd 4+ g

g+ 7

[

2

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
TS |7 7997 =0T 2 for 39y fofat " oft, 36+ 3a+1 v T,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T AR B0 W T 9 % g | 7, S 5
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
o T T UL FE S AT ST (o7 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 4

e T T e 8

|. W\ % A F
2. I A
g gﬁﬁf%aﬁ‘cﬁr
4. FERT TS T
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
AT |7 799T =0T 2 for 39y fofat " oft, 36+ 3991 e o,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T S B0 W T 9 % g | 7, S %
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
I T AT UL FE S AT ST (o1 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 5

¥ Fep = vt FE BT

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
AT |7 799T =0T 2 for 39y fofat " oft, 36+ 3991 e o,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T S B0 W T 9 % g | 7, S %
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
I T AT UL FE S AT ST (o1 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 6
¥ Tl S AT SRS T AT R 2AT 29
I g
. FEE A T
€ o STHIS
. W

e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.7

Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
AT |7 799T =0T 2 for 39y fofat " oft, 36+ 3991 e o,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T S B0 W T 9 % g | 7, S %
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
I T AT UL FE S AT ST (o1 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 7
T ST W S 27
. TAFAT
2. S TEEH
3, FATFAE
4. TR TS

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
AT |7 799T =0T 2 for 39y fofat " oft, 36+ 3991 e o,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T S B0 W T 9 % g | 7, S %
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
I T AT UL FE S AT ST (o1 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 8

¥ Syt rer T faem -
1. 3T

w3 B

PIEdLED

=

3dl

PIGE)

e,

-

il

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Comprehension:

Treferftga st i e fow T e % wE 3 St

ufrae safth o STEwe B 9 W W 04Ty 78 2an, 396 79 5 394
TS |7 7997 =0T 2 for 39y fofat " oft, 36+ 3a+1 v T,
T S T 7 241 A6 34T % 27017 2| 9199 1 Fded A HE BT 2
THF 90T, SATETHT 1 TR T8 T TSIl UT SHFT 31 |
Fedd AT R T T S wE A
i ot Ry ¥ # =9aT 2| I FIE o4 92 GiEe 88 WU 5 39k
T T T T T 2, 7 9% 39 (o0 5w ot e, i,
T FE A 39 T AR B0 W T 9 % g | 7, S 5
eI % S § €1 Gl @ WA Wi o e St Ao ag o aies
=1 21 vary 2 Tt off stem it it o foro femr e s Aw B ==
TG AT 247 % FRUT TET A FT SATHRT 1, FHIAETE HEH F1a,
o T T UL FE S AT ST (o7 ST
TS| TETH oI@eh, Fiaar, TRt ST 31 TR 1 5 o
T Tt

SubQuestion No : 9

¥ frm =R T STEEE B T O o Uy TE e

|. ot =3t =t

2. ST AR i

3. gEuTeT

4. IS SATE W
Options 1. 1

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

frateriiga sreatst =t ueae 20 0wt % wet 39 i)
ST 7 4Tt 3% T W e g €,

1 &7 39 = v, 5 W e i e F

o IV e T8 H T g8t ST e —

It ST S TEFT T8 FaT oTEl =

T SIS F A & ae-1 1 g — o 2,

T SATSTH T — |1 He] WT ST 7 91 22

2 39 999 M — 97 UeAAT, T 999 FaT F2]

T UE B GhAT T IE A TE 9 g2

SubQuestion No : 10

W1 et et v wEOE wAi

1. T
2. T
3. AAE
4. oItR
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

frateriiga sreatst =t ueae 20 0wt % wet 39 i)
ST 7 4Tt 3% T W e g €,
1 &7 39 = v, 5 W e i e F
o IV e T8 H T g8t ST e —
It ST S TEFT T8 FaT oTEl =
T SIS F A & ae-1 1 g — o 2,
T SATSTH T — | He] WT ST T 91 27
2 39 999 T — 97 UeAAT, T 999 FaT 92
T UE B GhAT T IE A TE 9 g2
SubQuestion No : 11

M et ser T AT 2.

|. g7
. T ST ST

. UTET A JTE]

3
4. 9T AT

Options 1. 1
2.2
3.3
4.4

[

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

ATt FFreaieT i TEaT 50 70 94T 3% TE 39 )
ST 7 4Tt 3% T W e g €,
1 &7 39 = v, 5 W e i e F
o IV e T8 H T g8t ST e —
It ST S TEFT T8 FaT oTEl =
T SIS F A & ae-1 1 g — o 2,
T SATSTH T — | He] WT ST T 91 27
2 39 999 T — 97 UeAAT, T 999 FaT 92
T UE B GhAT T IE A TE 9 g2
SubQuestion No : 12
¥ srem T T B
1) e
) T
)
)

A4t

Ja Lo pa

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

ATt FFreaieT i TEaT 50 70 94T 3% TE 39 )
ST 3772 ST % g WA Uee T E,

1 &7 39 = v, 5 W e i e F

o IV e T8 H T g8t ST e —

Tt ITFH 7 A1eAT I8] FaT e o

T SIS F A & ae-1 1 g — o 2,

T AT T — T el Hf et 1 a9 22

2 39 T9F T — I37 UeTAT, 39 95T 9T 99

T UE B GhAT T IE A TE 9 g2

SubQuestion No : 13

2o e T aa B
1. 39
(=
2. =H
3. 9d
4. BTH_T{
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




ATt FFreaieT i TEaT 50 70 94T 3% TE 39 )
ST 3772 ST % g WA Uee T E,

1 &7 39 = v, 5 W e i e F

o IV e T8 H T g8t ST e —

Tt ITFH 7 A1eAT I8] FaT e o

T SIS F A & ae-1 1 g — o 2,

T AT T — T el Hf et 1 a9 22

2 39 T9F T — I37 UeTAT, 39 95T 9T 99

T UE B GhAT T IE A TE 9 g2

SubQuestion No : 14

a1 ST o T ey 22
1. |90
]
2. T
3. @9
-
4. ETHH
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

ATt FFreaieT i TEaT 50 70 94T 3% TE 39 )
ST 3772 ST % g WA Uee T E,

1 &7 39 = v, 5 W e i e F

o IV e T8 H T g8t ST e —

It ST S TEFT T8 FaT oTEl =

T SIS F A & ae-1 1 g — o 2,

T SATSTH T — | He] WT ST T 91 27

2 39 THT T — ST UeAqT, T 9T 5T I

T U = FERAT T IE TR TE A TEY

SubQuestion No : 15

VS e it

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

° AT Fa A s R T Y E
. T AR A © QAT e 5 AT o o
2. T A | Tt e forae 2
3. e Torees o Ty B o1 T R e 2
4. Toreft ot a7 i o3 Tran 72 o 2

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q17" o v T ferenfedat S wfefire it g 3 fom 1 S we Sug U B =
1. FREATTHE SURTH
2. WSO ST
3. ST SATEE fafer
4, st
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q18 Frffige o & = w gfer feranfifa i sr=st wTe0r 7 1 vl 3 3 fom s 79 A wew
. T8 T YA e S|

. TSt T ==t R T Teute = e

. TorenTteta =t e T ATt fRfaal W e o ST Suee FO|

. Terenfef =it e forte o fofm airer 1 2TaE ST 1T AT SEehT Ffeat w6 e  wh

o o —

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.19 =if favarer woft ar==i1 i AR FeAt b1 AT 5 T 31407 1 =Ted € |l 272 71 Shi] =Ten?
1. S ST TR T AT AT St i WaTeTd e =k (oA UTgd W At e & R S A S g
=]
2. T ST T H Ao & TEe T a3l i T # 3 o s =)
3. E e F o Tow o S TSl ol T 0 ¥ g fere ®, et oAy st wlhe ot
e
4. ferenfefat i fafaremm =i weifim s o fom i v 2 e e w5 w= F =
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




HHlﬂﬁﬂﬂlﬂmmWﬁ%ﬁmﬁﬁwm%?

. T2 formera o aTe 5 Fo i e § 9w T 2
. Torentefa o et qum gl wE F)

3. Toreer =TT et T 7 o1 TE =R

4. TareTfeI= =pt T %Y W ek A T SATETIHAT T8 2

—

[-~2

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.21 of foverer 7am Wi g ¥ Ueet et 1 AR © S A 5 Hee e £, A 6 35 o 6 7
. Fonfifat =r o= 22|

. TS TN T | G i s 5 e

. TN S F

. Torerfidat & dieamen SR STE o SR

w2 =

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

2 Srepren T = e wEe s R e T
|. W I
2. FT9 =TT
3. = uE
4, ST AR

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q23 freaferfige o & im-oft wToT 1 ey o Ferr Aoy TTaeRT fararor fafar 82
1. I[E IR0 W |
2. T T UIST-WIH = 9|

3. TS SRV AT HIET 3 W1 U5 W 3
4. TaraTtdat i e 3 Forwer 0% == et o foreer o & Waier 9768 |UaT 0% ST <
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

02 CrafRas 5 & FE-91 917 97e01 3 faaTs F w0 § T8 o 5 v

1. == qT v F |re)
2. Tafsre =0 9 U3+ Fivre g 2|
3. TR qire § T |
4. TR § AT FFE &1
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q25 et e o Wi i w1 e T, 9 fe ok e s it Sug 2
1. Taferar arer ferarteat areht aemEst wer
2. =t Teraqfelat Sreft aemEet wa

3. farfereren arer vt et fafere e
4. =t foremfeat are fafere e
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




028 Srafefige o & F19-9T SU=TRIETF ToTaq0r 77 S2ver 7E 27

|. TTHTIFAT HTEaT 1 B2
2. I HTST 92T T TSN UG S e e WE ¥ T2 @ B
3. Toreqfetat = o=t T2 @ @
4. TEIU SUTTHT = e fSrenteat 7 srfinms & forw w5 S
Options;:;
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

¥ ST % IU-e 87

1. &
2. 91
3. U
4. 9
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.28 frapfefar = wivg= AUt o092 o7 TEwA UTH S o T Aite foT ST St £ ave

. AT BT o e B ferwee o e S w3 e e o = s

. o e Bt B ST hH & FE T T 98 T € YT IR T o A (518 % Sa o Sel e g
. 37 59 9T F1 QRIS 1 1 I e Savd Sl SUeed o (o §eRe TR HerT|
. I 70 T T T FA B (% U e o H T o S0 HEuISa ¥ Sea (e W H g

B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q29 mrey e 36 WIS & WTHT 3o ST T ¥ e & e e 3 ot e w2

7= fore o= & T Fr s ERa e 22
1. =Te=ht
2. WS
3, e
4. =T

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered

Chosen Option: 3

Q.30 fferfige =  forr Toveqoreres o w7ef & Tof =it o oF7vrall, S o elT SR WA ST it e 3 2
T TR 2 TITAoTeTe 3 T ar==l 2 HRTATeR T T B S ST 5 e ST T A aET =)

. Tomemeft

. AT A

. Toren fm

ToreamaTeT

.-hb-\h.)'—'

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered

Chosen Option: 2

Section : Language Il




Q.1

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 1




Identify the statement which is not true according to facts
mentioned in the passage?

1. A study by economists showed that hardly 8%
students in rural areas had regular access to online
teaching.

2. Only 5% students in rural areas received regular
instruction.

3. There was tremendous pressure on the part of the
parents to start in-person teaching.

4. Only about 30% students in urban areas had
smartphones.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.2

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 2




Which one is most similar in meaning to the word
‘paralysing’ used in the first paragraph?

1. problematic

2. disabling

3. demoralizing

4. harmful
|Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.3

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 3




What prompted the state governments to reopen schools?
1. Pressure on the part of parents.
2. Consensus among public health experts.
3. Considerable decline in COVID-19 pandemic cases.
4. To make up for loss of studies.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.4

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 4




Which part of the following sentence contains an error?
His all decisions have been governed by self-interest

(@) (b) (c) (d)
1. (d)
2. (c)
3. {b)
4. (a)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.5

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 5




Options 1. 1
2.2
3.3
4.4

et U

Which part of speech is the underlined word in the
following sentence?

Only 15% students in rural areas had access to
smartphones.

MNoun

Adjective

Verb

Adverb

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.6

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 6




Which of the following statement is not supported by
evidence in the passage.

When about 30 students and teachers were found COVID-
19 positive, the Tamil Nadu Government-
1. ordered tracing of infected parents.
2. didn't panic and help the schools open.
3. constituted a committee to effectively deal with the
problem.
4. increased testing.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.7

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 7




Read the given sentences:
A. Majority of urban students has access to
smartphones.
B. Only a small proportion of rural students had access
to smartphones.

A is false, B is true.
Ais true, B is false.
Both A and B are true.
Both A and B are false.

AT T

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Q.8

Comprehension:

Direction: Read the following passage and answer the questions by
choosing the correct/most appropriate options:

State governments have taken the difficult decision to reopen
schools for some classes, encouraged by a consensus among public
health experts that the benefit to students and society at large
outweigh the risks of COVID-19 increase. A week after many of
them reopened, mainly at the secondary and higher secondary
level, infections among teachers and students have not triggered an
alarm, although general social attitudes towards the pandemic have
turned negligent. Data from Tamil Nadu show that post-reopening,
about 30 students and teachers have tested positive, to which the
State has responded by tracing contacts and testing, while keeping
the institutions open. Kerala, which has struggled to contain the
infection rate and continues to report about 25,000 cases a day, is
venturing only to reopen residential higher education institutions
and final-year college classes within a bio-bubble of at least single-
dose vaccination; reopening of schooling continues to pose a
challenge.

The paralysing absence of education for millions in the
country has raised the question of whether governments have
shown alacrity to limit the harm from prolonged closures. A study
by economists in August showed that a mere 8% of students in rural
areas had regular access to online learning and 37% were not
studying at all. It also found that only a minority of students with
smartphones, i.e., 31% in urban areas and 15% in rural settings,
received regular instruction. This crisis has remained neglected for
over a year, and the findings underscore the need for in-person
teaching resume.

Among the major concerns surrounding reopening of schools
is possible transmission of the virus on campuses, with implications
for vulnerableindividuals.in the students’ home. Here,; the advocacy
of the European Technical Advisory Group on schooling during
COVID-19 —smaller class sizes, wider spaces between desks and
staggered breaks at school — is worth considering. The panel
underscores the importance of evolving a follow-up protocol, when
a cluster of cases leads to school-wide testing. Many public health
experts argue that younger children, typically in the 60 to 14 age
group, have the lowest risk of moderate or severe COVID-19
infection, while this is also the group that needs good foundational
teaching. Most of these students are not eligible for vaccination.
WHO recommends that for these pupils, the approach towards
reopening should be cautions: risk based, and taking note of
community transmission, ahility to maintain physical distancing and
good ventilation. Vaccination of teachers and school staff and
eligible students, and free testing for all are other major factors.

SubQuestion No : 8




Which of the following is the most opposite in meaning to
the word ‘alacrity’ used in the first paragraph?

1. inactivity

2. apathy

3. sluggishness

4, disapproval

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 9
Q9 wWhich of the following is NOT correct according to the
passage?
- Lending libraries became instrumental in educating

1. white-collar workers.
2. lower middle class people.
3. people in remote areas.
4. artisans.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 10

Q10 wWhich of the following facts are NOT mentioned in the
passage?
1. Grimm Brothers collected stories from peasants.
2. Stories were edited prior to publication.
3. Content which was considered unsuitable for
children was filtered.
4. The education departments supported publications
for children.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 11

Q@11 Read the following sentences:
A. Reduction.in working hours gave workers time to
read and improve their prospects.
B. Compulsory primary education increased the
demand for textbooks.

1. Asfalse, Bis true.
2. Aistrue, B is false.
3. Both A and B are true.
4. Both A and B are false.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 12

Q@12 which of the following words means the same as the word
‘vulgar’ as used in para 1 of the passage?
1. irrelevant

2. irregular

3. irritating

4. indecent
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 13

Q13 wWhich of the fellowing words is similar in-meaning to the
word ‘gradually’ as used in para 3 of the passage?

1. slowly
2. carefully
3. sluggishly
4. urgently
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographies in large numbers.

SubQuestion No : 14
Q.14 Which part of the following sentence contains an error?

Lending libraries proved a boon
(a) (b)

with white collar workers anhd lower middle class people

(d) (d)
1. (a)
2. (b)
3. (c)
4. (d)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage given below and answer the questions
that follow by choosing the correct / most appropriate options:

As primary education became compulsory from the late nineteenth
century, children became critical for the publishing industry. As
children’s press, devoted to literature for children alone, was set up
in France in 1857. This press published new works as well told fairy
tales and folk tales. The Grimm Brothers in Germany spent years
compiling traditional folk tales gathered from peasants. What they
collected was edited before the stories were published in a
collection in 1812. Anything that was considered unsuitable for
children or would appear vulgar to the elite, was not included in the
published version. Rural folk tales thus acquired a new form. In this
way, print recorded old tales but also changed them.

Women became important as readers as well as writers.
Penny magazines were especially meant for women, as manuals
teaching proper behaviour and housekeeping. Novelists in the
nineteenth century saw women as important readers. Some of the
best-known novelists were women: the Bronte sisters, George Eliot.
Their writings became important in defining a new type of woman:
a person with will, strength of personality, determination and
power to think.

Lending libraries were in existence from the seventeenth
century onwards. In the nineteenth century, lending libraries in
English became instruments for educating white-collar workers,
artisans and lower-middle class people. Sometimes, self-educated
working class people wrote for themselves. After the working day
was gradually shortened from the mid-nineteenth century, workers
had some time for self-improvements and self-expression. They
wrote political tracts and autobiographiesin large numbers.

SubQuestion No : 15

Q@15 The new type of woman defined by the nineteenth century
women novelists
1. challenged male chauvinism.
2. fought against the prevalent social evils.
3. was strong, determined and intelligent.
4

defined social conventions.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.16 \While learning a new language

1. the knowledge of mother tongue is helpful.

2. the use of mother tongue creates interference rather that facilities.
3. the mother tongue should not be used at all by the teacher.

4. the mother tongue should not be used by the learner.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.17 To evaluate reading comprehension for a primary level student, the teacher asked the students to
1. retell a story in their own words or summarise the main idea.

2. maintaining a diary based on one of the characters.

3. using a set of identified vocabulary on their own

4, asking the students to discuss the advantages and disadvantages of the topic.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.18 Inthe language classroom the learners read the story ‘Kabuliwallah'. Later, they are given background material with
illustrations of certain scenes of the story and brief descriptions. A few learners enact one or two scenes depicted in
the illustrations. Other learners watch the scenes enacted. This process is:

1. Observation

2. Contextualization

3. Cognitive apprenticeship
4. Collaboration

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.19 Ateacher in the classroom introduces the topic and asks the students to quickly think of ideas and note them down
before writing and article on the topic. What is the teacher doing in the classroom?
1. Drill
2. Assessment
3. Brainstorming
4. Checking lists

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q20 rjyency means

1. writing correct spelling

2. summarising a story in own words
3. clarifying the rules of grammar

4. speak, read and write with flow
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.21 Each language has unique sounds, structures and vocabulary. This characteristic of a language shows that
1. language is arbitrary

2. language is a skill subject

3. language is a system.

4. language is a species specific.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q22 \which of the following is NOT a visual teaching-learning materials?
1. Magazine and newspaper
2. Radio broadcast
3. Reference books
4. Picture chart

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.23  which of the following is NOT recommended as a strategy for remedial teaching?
1. Identifying and diagnosing individual learning weaknesses based on which remedial instructions are given.
2. Teachers formulate remedial practical solutions to address and resolve problems.
3. Analysing where the student goes wrong and selecting appropriate remedial actions.
4. Applying advances learning strategy by applying newer reading and thinking methods.
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.24 \While assessing a student, the teacher should compare the progress of a child
1. with the aother children in the class.
2. with those who learns fast.
3. with those who are slow learners.
4. with his/her previous level of learning.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q25 (Cognitive learning theory does not focus on
1. human beings are born with a build in language device.
2. errors as a part of the learning process.
3. language is learnt through the process of habit information.
4. language is learnt by involving reasoning and mental processes.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q26  The process approach of writing involves
a) Drafting
b) Brain storming
c) Editing
d) Revising

1. (a), (b), (c), (¢
2. (b), (a),{d), (c)
3. (c), (d), (a), (b)
4. (a), (d), (b), (c)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q27 Notherese is better known as:
1. babbling
2. learning through intimation
3. child-directed speech
4. operant conditioning
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.28 A critical period in development can be identified when a particular
1. age is critical for the development of learning and experience.
2. experience has its greatest effect on learning during a particular period of development.
3. critical experience has its grateful effect on development during learning.
4. period, rather than experiences, is critical for learning and development.
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.29 Which test measures a student’s achievement in relation to a specific task that the student will be required to perform
later?
1. Proficiency test
2. Productive test
3. Subjective test
4. Objective test

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q30 Raceptive skills in language refers to
1. listening and speaking skills.
2. listening and reading skills.
3. speaking and writing skills.
4. speaking and reading skills.
|Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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